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3 + 2 = 

1 + 2 = 

4 + 1 = 

2 + 0 = 

2 + 2 = 

1 + 3 = 

2 + 3 = 

5

5

2

4

3

4

0
2

5

Fi
sh

in
g 

fo
r N

um
be

rs
So

lv
e 

th
e 

ad
d

it
io

n
 p

ro
b

le
m

 o
n

 e
ac

h
 fi

sh
in

g
 li

n
e.

 
D

ra
w

 a
 li

n
e 

fr
om

 t
h

e 
fi

sh
in

g
 li

n
e 

to
 t

h
e 

fi
sh

 w
it

h
 t

h
e 

co
rr

ec
t 

an
sw

er
. C

ol
or

 t
h

e 
p

ic
tu

re
. 
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Shape Sudoku#2
Each row, column, and four-part square should have one of each shape. 
Cut out the shapes below and place them in the empty squares. Once 

you have found where each shape belongs, glue them in place.
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M
ak

e 
a 

Fa
ce

8 
+ 

2 
= 

__
__

_

4 
+ 

2 
= 

__
__

_

5 
+ 

2 
= 

__
__

_

10
 +

 2
 =

 _
__

__

9 
+ 

2 
= 

__
__

_

7 
+ 

2 
= 

__
__

_

6 
+ 

2 
= 

__
__

_

3 
+ 

2 
= 

__
__

_

ev
en

, d
ra

w
 a

n
d

 c
ol

or
b

ro
w

n
 e

ye
s

od
d

, d
ra

w
 a

n
d

 c
ol

or
g

re
en

 e
ye

s

a 
m

ou
th

 w
it

h
 a

s 
m

an
y 

te
et

h
 

as
 t

h
e 

an
sw

er

as
 m

an
y 

fr
ec

kl
es

 a
s 

th
e 

an
sw

er

ev
en

, d
ra

w
 a

 s
m

al
l n

os
e

ev
en

, d
ra

w
 s

m
al

l e
ar

s

ev
en

, c
ol

or
 s

h
or

t 
h

ai
r

ev
en

, c
ol

or
 a

 s
tr

ip
ed

 s
h

ir
t

ev
en

, c
ol

or
 t

h
in

 e
ye

b
ro

w
s

od
d

, d
ra

w
 a

 la
rg

e 
n

os
e

od
d

, d
ra

w
 la

rg
e 

ea
rs

od
d

, c
ol

or
 lo

n
g

 h
ai

r

od
d

, c
ol

or
 a

 s
p

ot
te

d
 

sh
ir

t

od
d

, c
ol

or
 t

h
ic

k 
ey

eb
ro

w
s

If
 t

h
e 

an
sw

er
 is

 . 
. .

Th
en

 d
ra

w
 . 

. .
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6

M
ak

in
g 

Te
n 

M
et

ro
po

lis
E

ac
h

 o
f t

h
e 

fo
llo

w
in

g
 c

it
y 

b
u

ild
in

g
s 

h
as

 te
n

 w
in

d
ow

s.
 

St
ar

ti
n

g
 a

t 
th

e 
b

ot
to

m
 o

f t
h

e 
b

u
ild

in
g

, c
ol

or
 t

h
e 

n
u

m
b

er
 o

f w
in

d
ow

s 
as

 s
h

ow
n

 o
n

 t
h

e 
b

u
ild

in
g

’s
 le

ft
 d

oo
r. 

O
n

 t
h

e 
ot

h
er

 d
oo

r 
of

 t
h

e 
b

u
ild

in
g

, w
rit

e 
th

e 
n

u
m

b
er

 o
f w

in
d

ow
s 

th
at

 a
re

 n
ot

 c
ol

or
ed

. S
ay

 t
h

e 
co

rr
es

p
on

d
in

g
 a

d
d

it
io

n
 e

q
u

at
io

n
 fo

r 
ea

ch
 b

u
ild

in
g

 a
lo

u
d

. F
or

 e
xa

m
p

le
, “

Fo
u

r 
p

lu
s 

si
x 

eq
u

al
s 

te
n

.” 

Th
e 

fi
rs

t 
on

e 
is

 d
on

e 
fo

r 
yo

u
.
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Y   9 + 8 = _______

L   5 + 8 = _______ 

M  9 − 4 = _______

V   7 + 8 = _______

D   7 − 4 = _______

T   9 + 3 = _______

I     9 + 7 = _______ 

O   9 − 8 = _______

A   5 + 4 = _______ 

F    4 + 7 = _______ 

E    12 − 6 = _______

H    9 − 5 = _______

N    8 + 6 = _______

____        _____ ____  ____  ____       ____  ____ 

____  ____  ____  ____  ____  ____      ____  ____  ____ 

____ ____ ____ ____      ____ ____ ____ ____      ____  ____!

16 13 1 615 5 17

11 9 5 16 1713 9 14 3

12 4 6 17 113 15 6 5 6

Crack the Code
Solve the equations below, using manipulatives as 

needed. Then crack the code by writing the equation’s 
letter listed on the line above the corresponding answer. 
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Pack the Suitcase
Cut out the items and organize them in 
the suitcase so they fit without overlapping 
each other or extending outside.
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